EN#(EXR)BEER[SMN2E3ARBRHE]

BG: A
BEXIE1 | EXiE2 B ENE | BENE2 | ENHE3 | ENEL | ENEES B &
£ 15 #H RKEHAE 76 56 132 94 79 58 51 33 315 447
65i% Ll E 75K iE 7 10 17 6 14 11 12 7 50 67
8 758tk 69 46 115 88 65 47 39 26 265 380
F 25 HRKEHE 4 2 6 8 5 3 2 3 21 27
%k 80 58 138 102 84 61 53 36 336 474
BEXIE1 | EXiE2 B ENE | ENE2 | ENHE3 | ENEL | ENEES B &
£ 15 #H RKESE 153 144 297 203 136 110 113 89 651 948
658 LI E 75k 18 20 38 11 13 4 7 5 40 78
T 758tk 135 124 259 192 123 106 106 84 611 870
F 25 HRKEHE 4 2 6 3 2 2 3 2 12 18
%k 157 146 303 206 138 112 116 91 663 966
BEXIE1 | EXiE2 B ENE | BENE2 | ENHE3 | ENE4 | ENEES B &
£ 15 #H RKEHAE 229 200 429 297 215 168 164 122 966 1,395
65i% Ll E 75K iE 25 30 55 17 27 15 19 12 90 145
B 758Uk 204 170 374 280 188 153 145 110 876 1,250
F 25 HRKEHE 8 4 12 11 7 5 5 5 33 45
%k 237 204 441 308 222 173 169 127 999 1,440




